N6 4R

AREPTR TR ()
WALEROKIEE D 2 T 5

[Z4]]

38 R B
ARE V¥ S5 S S KM 26 P



» B E
TFE - AR - A Btk HAL # fii &

. kT

(I E¥(+LT 7= CARfE S T8

BRI zgfﬁitﬁé P BB~ R S m3 257
b gﬁi@:ﬁ%%ﬁmﬁ m3 257
HeHh m3 257
A (L—X) [RERZ = m3 260
HR &N Wi+ =X 1
MR = 1
R A #E+ (RB-40) Ey 1
MR BRI R (RB-40) = 1
(2) 1E3¥5% L T 7o AR S T8

D IE m3 1, 000
HEHh m3 1, 000
(3)E¥E+LT FHE Y

Sl i?@ﬁ%(%@ﬂﬁ =« 1
A SV X 20 1
i fi@; Enf'ﬁﬁ Fe sk 4 & )
T g%i@:ﬁ%Nﬁ%% 3 85
b S E g&;ﬁﬁi@ I S S~ B m3 85
T m3 85
A (L—2X) (B S RHA m3 85
M RAL 20 1
PR L&A = 1
(4)1E¥5% Lus T FHE Y

2/1




TFE - AR - A Btk HAL e fii &
bR m3 133
B Hh m3 133
. HEEYIME L
(1) 7 A7 7 v Ml VRIE (HE) - DERREHLE
EHAERR ) t=100 m 1,048
i PR t=100 nf 592
XA T AT 7 v b iE m3 59
ROE - ALER (PEEFERM I ) T AT 7 b LB m3 59
i %é%?wfﬁ%@%% s 6.3
S - B (BRI ) T PHIEREIE | 6.3
(2)7 A7 7 v b EEERE VOB () (hhs
A& R O W t=100 m 1,048
ElAE AR A fdhde =30 nf 592
EhLE IR AR t=100 nf 1,111
XA T AT 7 v b iE m3 141
M - AR (BESEBEFEM AL ) T AT 7V bk m3 141
i %é%?wfﬁ%@%% s 6.3
S - B (BRI ) T PHIEREIE | 6.3
Etcl e m3 30
R 30 g A m3 30
Feh m3 30
(3) A MRk 2
BEGEER 7wy 7 m 7.0
BT

3/1




T O S
TFE - AR - A Btk HAL Hoe fii &
(1) e FeptE T 7= TIAAE 5 1R X [H
AR ot 580
Wt S %)HE%K (FREEPTyva77 RC= | g 105
P Zézgﬁllﬁkﬁ (F2E797477 RC- " 157
ETHERR R 4797477 RC-40 m3 157
(2) Wefi FetlE T S Y XH
SR IE FIE Y XH m 69
LRI YD X i 49
Wt S %)HE%K (FREEPTyva77 RC- | g 8.0
P Zézgﬁllﬁkﬁ (F2E797477 RC- " 17
1 %@gﬂgﬁ'&ﬂ e B (1 =« ]
. BT
(1) %7 2 A NEESE AR L 7o AR S T8
U B A VR T# (DB) ¢ 300 m 444, 0
2B A NVEESE T-K7% (DB) ¢ 300 m 18.0
X724 NEREE  TIE(DB)  HOIE ¢ 300 X 1
B EANVEESRE TR (DB)  LUIE ¢ 300 2V 1
X224 NEREE  KIE(DB)  HOIE ¢ 300 X 1
XA NEEDE BIEE KB 220 1/2 ¢ 300 N 1
2 NVERRE RIPE KE EE2S ¢ 300 A 1
50 5 A N i B & |
BB A VERERE E YT & T 17
B0 B A VERERE REER T EiEl 3

4/17




» B E
TFE - AR - A Btk HAL Hoe fii &
BB A VERERE W 308 o i 6
5y 5 A VR igﬁ%ﬁ) (4300 S 1
U B A IVEEERE 2FfH% (4300 L=800mm) VN 1
(2) FPiRiE L
Bl 3% 28K FT, Thmm =& 1
FRAE 495225397, T5mm B 1
(3) &7 B A VEEEEEA e
2B A VRS T# (DB) ¢ 300 m 40. 2
2B A NVEESE T-K% (DB) ¢ 300 m 18.0
X7 B A NVERERKIE % i ££300 11-1/4° VN 4
2 B A VERBRKIE 52 M A ££300 45° ZS 2
5. ZEXFEL
(1)F=ETL
oy gfjﬁr 1360 X 1360, 40kg/ W% ]
~ A= H=1020, 900 X 600 fEFT 2
6. fH#TL
(1) R T
R RRT — T B=150, 2 & m 522
(2) d s - ﬁjﬂsjlﬁélj{éfASYwﬂﬁjém
TRDEIE M m3 9, 200
7. FHiEIR T
(1) K78 1A T
F A - HRE nf 1,729

8. EHMEIHT

5/1




» B E

THE - HER - Biks HLAZ M =
(1) 7 A7 7 Miid&T WoE (B0#E) - {KEIR
TR (HE - BE) RC=40, t=150 nf 592
FrEEaE (BHE - BIE ) M=30, t=220 nd 592
#E (3 - B D) TR A= o 592
(2)7 A7 7 MElzET VOB (HE) : AMEIH
I 3K - B ) TR A= o 703
xR (Hll - B D) ikl o 703
ENi s e 1
(3) WA EH%E T
FAbFI) YD X i 222
(4) PXHj# T
D] T FHE Wisem A m 524
ESEIEEN ERE Wibem m 524
D] T A Wisem R m 524
(5) &AL (1818)
HHGERER T v AHEER T 1 v 78R m 7.0
R T
(1) GERIE R T
LET— bk nf , 849
BBk AR~ R~ nd 352
AR R E~ R~ S i 318
WOERR - UEE (FEEFEREMIL ) TARZE S — k m3 9.2
TR E TARZES— b = 1

(2) x5 - fmy) T

6/7




O S
TR - R - AR Bk HANT ¥ i %
e CiAAfli 5 LR B=1. 13m H=2. 20m m 525
S Fom, KM 9cm ES 3
mbh3 = 1
(3)Zat
A2 38 5 5 B IN 318
10. Zoft
(1)EfRF
L@l (B LT
R
(R A Wi 2% ® 1
(R A i % IS = 1
(R A Wi 2% T CiAR 5 L8 = 1
R % gk CRERR IR LAk = 1
— BT A
1. hREEBR
(1) BB
R TiEEA S1EA (4 it 1

)

1/1




